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f(x,y)=(x"24x+1)*e"(-x"2/10-y"2)
fx = diff(f(x,y),x)

fy = diff(f(x,y),y)
show(factor(fx))
show(factor(fy))

eql = fx==
eq2 = fy==0 4/ M
solns = solve([eql,eq2],x,y,solution_dict=True) f;‘lf,

9 #show(solns)

10 ans=[[s[x).n(),sly)l.n(),f(s[x],sly]l).n()] for s in solns] 1§>
Lod-

11 showl(ans)
12 fxx = diff(fx,x) 9’
13 fxy = diff(fx,y) ﬂo G

14 fyy = diff(fy,y) Q'Fﬁ Wt

& xx=-3.279}§/'_' Q‘.'. ’+7. /
16 yy=0

17 h11=fxx.subs(x=xx, y=yy)

18 h12=fxy.subs(x=xx,y=yy)

19 h22=fyy.subs(x=xx, y=yy)

20 He=matrix([([h11,h12],[h12,h22]])

21 show(H)
22 show(H.eigenvalues())
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